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Written methods 

 
1) 32 + 47 = 79     
 
2) 65 – 23 = 42     
 
3) 82 – 34 = 48    Exchanging. 
 
4) 43 x 2 = 86     
 
5) 35 + 48 = 83    Carrying. 
 
6) 17 x 5 = 85    Carrying digits.  
 
7) 560 - 307 = 253   Calculating with zero.  

 
8) 690 + 204 = 894   Calculating with zero. 
 
9) 614 - 86 = 528    Exchanging from 1, aligning numbers. 
 
10) 78 + 48 = 126    Carrying final digit. 
 
11) 803 – 257 = 546   Exchanging across zero. 
 
12) 3 x 54 = 162    Carrying final digit, commutativity. 
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